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ave - A [ SECTION - A

aﬁﬁﬁ U¥1 / Objective Type Questions

[220 )

T WET 1@ 1007%F ¥ W & Wy 9w frwew Ry ny & e @ v we
Msomﬁ%w?:m#mg#w#ﬂm# OMR iz uv fufesd

FI

50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected correct option on

the OMR Sheet.

1. TrEerd g9E % e §, GEER gl Ad ?
A) JATAF (B wERTH
€ Ui W= TAH (D) @& asfi

50x1=50

In the absence of partnership deed, partners are not entitled to get

(A) Salaries

(B) Commission

(C) Interest on capital /(B‘)/ All of these
2. T T TRER AT TG & aoet o |

https://www.bsebstudy.com

(&) g - (B) g
(C) (A) 3 (B) TH (D) A A I TE
A new partner brings for his share of Goodwill
(A0 Cash (B) Capital
(C) Both(A)and (B) (D) None of these
3. frfafgrddsh-menfa A wwid e
(&) 98 # @i B) Tt € wnfa
€ F W Efa (D) ¥ ¥ a¥ft
Which of the following is a nature of goodwill ?
(A)  Rat goodwill (B) Cat goodwill
(C) Dog goodwill By All of these
4. fremy YR & Ir=wia TR ) e Rt R .
A) FFE x fEa av (B) 4 a¥ x Jrferem
(€ a T + Awa w™ D) & A Y T
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Under superprofit basis goodwill is calculated by
(A) Purchase year x Average profit

(B) Purchase year x Superprofit

(C) Purchase year + Average profit

(D) None of these

5. I B gWIivd 9 e 98 ‘%
A) IR R (B) =ifea Pt
(C) WEY FuE (D) T @ et
Factor(s) that affect(s) goodwill is/are
(A) Favourable location
(B) Capital required
(C) Efficiency of management
f@ All of these
6.  ATEmy ¥ AT T AU & ?
(A) P AT+ TN B G
(B)  3INTd W™ - G T
(C) it &M + ¥ Iul @
(D) ¥ & BT
What do you understand by superprofit ?
(A)  Total profit + No. of years
(B) Average profit — Normal profit _
(C) Weighted profit + No. of years purchase
(D) None of these
7.  WWTE G99 oG ghen ular §
(a) 2fee Am B) ey
(€} (A) I (B) D) & B
General Reserve Account always shows
(A) Debit Balance '- (B) Credit Balance
(C) Both (A) and (B) (D)  None of these
25A/12/132
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8.  THEATHT Wl R
(a)  =afeE @ (B) ol Gl
(C) W Eran (D) ¥ & & T
Revaluation Account is a _
(A} Personal A/c ~ (B) RealA/c
Gy~ Nominal A/c (D) None of these
9. i @w ¥ Hiee vy w1 e vw w anfie Feeman @
(a) ™ B) @R
(C) i (D) =&
Excess of credit side over the debit side in Revaluation Account is
called
Profit ' (B) Loss .
C) Receipt (D)  Expense
10. i WIEERT 1 A AN I &
(C) é—%% (D) %%%
Equal profit ratio of three partners is
(A) %%-é— (B) %%%
(C) %%é‘ (D) %%21{
1. wee (3w goft O o) fam, 2014 ¥ IEER, aﬁmsﬁéwhm%qsi
mﬁﬁrﬁr%hﬁnﬁmﬁwsﬁmﬁﬂwﬁﬂhmm?
(A} 25% (B) 50%
(C) 100% D) A
According to Companies (Share capital and Debenture) Rules, 2014
by which percentage of the amount of debentures will have to
create Debenture Redemption Reserve, before the commencement
of redemption of debentures ? . '
&25% (B) 50%
(C} 100% (D) Zero
25A/12/132 Page 5/ 32
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A Rafike 3 Y% 100 & % 10,00,000, 7% FUHI Pl 4% # FR W

12.
mwaﬁs_ﬁ%mﬁ%%mqgﬁm%lw%ﬁﬁqm
LT
(A) 10,00,000%0 (B) 6,00,000 %0
(C)  4,00,000 %o (D) A PR A
Deep Ltd. issued 10,00,000, 7% debentures of Rs. 100 each at a
discount of 4%, redeemable after 5 years at a premium of 6%. Loss
on the issue of debenture is
(A) Rs. 10,00,000 (B) Rs.6,00,000
(C) Rs. 4,00,000 (D) None of these

13, O % AW ¥ vearq R wus @ &1 Ay Q- B S @
(a) @-gf feeror (B) T §9Y @i H
€ R wog @ o (D) ¥ A HIg 7l
The balance of ‘Sinking Fund Account’ after the redemption of
debentures is transferred to . | _
(A)  Profit & Loss Statement (B) General Reserve A/c
(C) Sinking Fund A/c (D) None of these

14, 99 RO Hl GO WA fR e R i fiftem woshes fen a2
a9 30 ¥R & frim w afy fee @m % am ug § ey § 2 |
(a) v F 7 fE (B) VYA ST 9 HEA Gl
€ e R Em () W w e g
When debentures are issued at par and are redeemable at a
premium, the loss on such an issue is debited to
(A)  Profit & Loss Statement
(B)  Debenture Application & Allotment A /¢
(C) Loss on Issue of Debenture A/c
(D) Premium on Redemption A/c

15. e muA 6 Rttt § |
(a) TR g e B) et i e
(C) YA YTE fify D) i Fwmft

25A/12/132
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Method(s) of redemption of debenture is/are
{A) Redemption by conversion
{(B) Redemption on instalments
(C) Lumpsum payment method
. ”fﬁi‘  All of these '
16. %ﬂ?ﬂﬂﬁt@ﬁﬁ%ﬁﬁﬁﬁ@mm

() waTe fweanatt o (B) fefig fkamati o
) Fraw fraii A (D) U=g T UFg guged |
Sale of marketable securities will be shown under
-(AJ Operating activities (B) Finé.ncing activities
(C) Investing activities (D) Cash & cash equivalent
17. % forg ymum | -
(A) = T - (B iaR® =
© (A 3R (B) A D) @ wid T
Provision for Tax is |
(A) Current liabilities (B) Internal reserve
(C) Both (A) and (B) (D) None of these
18, ot @ afdes fakd frfa e s .
(A) TS & fog | (B) YA & feq
() oinufeE & faw (D) 3ikhE! % T
An annual report is issued by a company for
(A) Directors (B) - Management
Shareholders (D) Auditors
19. feraaor 21 €
(a) el o B) 3rfweifaa o
(© T e D) v A BT
Financial Statement is !
(A) Anticipated fact ,LB’)/ Recorded fact
{C) Estimated fact (D} None of these
[ 25A/12/132 Page 7 / 32
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20. WeRE ¥ Hidugew few Auft & s amd & 2
(A)  =Te] wefal (B) W& "Wl
(C) g wfeat (D) T & afl
Patents and capyrights fall under which category ?
(A)  Current Assets " (B) Liquid Assets
A4erIntangible Assets (D)  All of these
21. T WEER H g A W aied % R o wf dgw e s arferdt
% U wd vl 7
(A) ot B iy | (B) WU YA

(C) yas wiPer A it uf (D) Wt wEER 1w Y
On death of a partner, the firm gets for joint life policy taken for al_l
partners is '
~(A)  Policy amount
-(B] Surrender value
(C) Policy amount of deceased ps;rtner
(D)  Surrender value of all partners

2. HIEIER h 7eg W 3ifem e g @

(A) OSft @ @ B) romEs @ A

(C) (A) 3 (B} A (D) W @} |

On the death of a partner, final payment is made through
(A} Capital A/c ABT Executor’s A/c

(C) Both (A) and (B) (D) LoanA/c

03, EERER % IGURHER &1 @Kl &4 Giel S ¢ ?
(A) . WERR & FEHM W (B) FRENH Y W
(C) HTEGEN 3 Waw W (D) ¥ & =8 Tl
When is the partner’s executor account opened ?
(A) On retirement of partner
On death of partner

| (C) On admission of partner

(D) None of these

QSAM | - Page 8 / 32
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24, WD = W oageh @ % e o F e o @ o

(A) sfe (B) ¥z

) ufrs (D) |wfy

Legal expenses are recorded in which side of Realisation A/c ?

. @) Debit (B) Credit

(C} Liabilities (D) Assets
25. W % Ruet & awa gwieEl w1 g I aget @m & fee oy o foar

AT % 2 N

(A) sfee (B) whise

€ gwRE . (D) AR

At the time of dissolution of firm, book value of assets is recorded

in wh'i'ch side of Realisation Account ?

~AA)  Debit - (B) Credit
“T'('ﬁ Liability (D} None of these
06. & % famed W wmRel # fasea W age i T uft fereht Sl @
(A) Sget @ H B) ofie @ H
(€ =W@EEHF (D) T IS TR

Amount realised from sales of assets, on dissolution of firm is

recorded In

(A) Realisation A/fc (B) Liabilities A/c
(C) Expenses A/c , (D) None of these
27 o Fré arien Fed 9T TR % IaE &1 QR @ A @ @ iee
fepar e
(o) e @ A | B) U%g @ i

€ wEeRF{hwmd (D) T Q i T
When a partner takes responsibility to make payment of any
outside liability of the firm, the account credited will be

(A} Realisation A/c (B) CashAjc
@ Partner’s Capital A/c (D)  None of these

" Page 9 / 32
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28.
& Ty d (p &5 @R E A
© wghEnswmumd (D) R
Unrecorded liabilities when paid are shown in
(A)  Debit side of Realisation Afc
(B) Debit side of Bank A/c
(C) Credit side of Realisation A/c
(D) Credit side of Bank A/c
20 af: guT % wwa i ¥ gau f P g A A A
() YTH T g (B) T g &
(C) 3FiRms YA g D) T A G T
If at the time of dissolution nothing is said about liabilities, then
(A)  Never paid , Fully paid
(C) Partly paid (D)  None of these
30. o % faued W wTSER % ¢of @ wg BRL T @
(A) =g T & 9o | (B) TR @A % WA d
€ FHTRHTEAY (D) W @S A Y
On dissolution of the ﬁnﬁ, Partners’ Capital Accounts are closed
through *
(A) Realisation A/c (B) Drawings A/c
Bank A/c (D) Loan A/c
31. ‘e famor W § wftvfaa gid € |
(A) aAmI-gIF fe= (B) Feufy fammw
(€ (a) 3 (B) D) wHIPEAE
The term ‘Financial Statement’ includes
(A} Statement of Profit and Loss
(B) Balance Sheet
~ Both (A} and (B)
(D) None of these
25A/12/132 | Page 10/ 32
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33.

35.

(220 ]
) sriufm, 2013 % FHER Rl fag @ gred #ar 8

(A)  HHAd (B) @wEEq

©) (&) aul (B) & D) % @ Fr§ T

The form of Balance Sheet as per Companies Act, 2013 18
(A) Horizontal (B) Vertical

(C} Both (A) and (B) (D) None of these

vy gt 1 femmn s 2

(A} T W (B) A UEF BTH TR
(C) I Jed W (D) g YT ETH I

Fixed Assets arec shown

(A) At par value

(B} At cost price less deprecmtmn
(C) At cost price

) @ At realisable value less depreciation
34.

7 fore ¥ fa @ T 9w B
(A) YEUH . B g vwrd
(C) ®R|R D) THEWA
Parties interested in ﬁnan(:lal statements are .
(A) Managers (B) Financial institutions
(C}) Creditors /(D-)/ All of these

ﬁﬁmmmaﬁ%ﬁmﬁﬂﬁwﬁﬁﬁwmﬁmﬁ@ﬁ
EIGI -

(A) arafes oo frgeraw (B) =R % fergetww

() i fawem (D) & g T

When financial statements of two or more organisations are
analysed, it is called

{A) Intra-firm analysis (B) Inter-firm analysis
(C)  Vertical analysis (D) None of these
36, fadrn favdrgor gearft 2
(A)  falrnreata & feg B) i & fea
_(©) i < ferg (D) ¥ @ i
L 25A/12/132 | T “Page 11 / 32
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Financial analysis is useful for

(A)  Investors (B)  Sharcholders

{C) Debenture holders By~ All of them
37. uﬁmﬁmaﬁfﬁnmaﬁaﬁ‘ﬁmm% ?

® @) T
(C) um T D) T F FE A
Which year can be selected for calculating trend percentage ?
{A) Current year (B) Previous year
_,LG‘)/ Base year (D) None of these
38. fawa § 4 39 U o ) A HeR wa B S Ul At R
O (A)  EETeW A (B) WHA WM™
(© Y& e (D) F@ ™
Sales less cost of goods sold is called
(A) Operating profit - (B)  Gross profit
(C) Net profit “ {D]' Total profit
39. f & F-d frefia fam & fyvdwm f g i @ 2
) I favem (B) qETCHF Fagermo
(C) wafa fawawwm (D) Usfitor Tty
Which of the following is not the method of financial statement
analysis ? .
/@) Ratio Analysis (B) Comparative Analysis
(C) Trend Analysis (D) Capitalisation Method
40. THM 3R & e wiw: aur fee e €
(A) HTE % T H B) wfvwe % wu
(C) (A) 3T (B) qF D) ¥ ¥ H 1
Common size financial statements are mostly prepared in the
form of
(A}  Ratio (B}  Percentage

(C) Both (A) and (B) D) Nome of these
VIeTiE

e e

Page 12/ 32
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41, EEE ® 9 SAA 90RY

A)  TfE (B) 3T WIfH

() wmfw | (D) AW

Legacies should be treated as |

(A) Liability - (B} Revenue Receipt
(C) Asset (D) Income

42, ot s 1 aft st fard o €
(A) 9 U9 =54 @Id H (B) Teufa faewo A
(C) Y- @[ # (D) U3 varg e §
Al receipts of capital nature are shown in
(A) Income and Expenditure A/c
(B) Balance Sheet
(C) Profit and Loss'A/c
(D) Cash Flow Statement .

43. AfmyHEREd
) Fwi B) I
(C) =& (D) TR
Subscription received in advance is
(A)  Asset - (B) Income
" (C) Expense - AB”  Liability
44, wrRd arfufva fRm @ om] g ?
(A) 19324 - (B) - 1956
) 19471 (D) 2013%
In which year did the Partnership Act come into force ?
A 1932 (B) 1956
(C) 1947 (D) 2013
45, o ¥ fore aTiER ¥ SV WA R
(a) = (B) M
© @f (D) s
For the firm, interest on partner’s drawing is a/an
(A} Expenditure _ABI~ Income
(C} Loss (D) Receipt
__25A712/132 Page 13 / 32
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46. HFEA W, WPl ey 94 R

(A) rfEr B) U=e®
(C) =i (D) ¥ A F 7@
In partnership, preparation of partnership agreement is
(A) Compulsory _iBy~ Voluntary
(C) Optional (D) None of these

47.  w& 4ot TR 2 4 wmdert w ot T w2
(A) M I (B) W1 I
€ wm™ D) wh
When capital is fixed, the capital accounts of partners show
(A)  Debit balance (B) Credit balance -
(C) Profit (D) Loss

48. T WIHGH g < fore Frevas 2
(A) THEH (B) 3TIEH B
(©) (A) 3 (B) A D) T | B T
To become a partner it is essential to be

/@ Adult ' (B) Minor

(C) Both (A} and (B) (D) None of these

49.  HREGH do@ F IWE H, HEHH H
(A) e femm smaom

B) a1 7@l femn wmom
(C) uiha wdehl B ¥aq fe smem
(D) 3 & = TE
In the absence of partnership deed, partner
(A) shall be paid salaries
B shall not be paid salaries
(C) active partner shall be paid' salaries
(D) none of these

50. aﬁ@ﬁ%‘[ﬂﬁ@m%

(A) EHTED (B) THRTH®
c I (D) T | wf
25A/12/132 | Page 14 / 32
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The balance of Current Account can be

(A)  Positive (B) Negative
(C) Zero : | (D}  All of these

51. Fefafea vl § @ fr are srquma & omn & e+ fen e @ 2
(A) WER B TR |
(C} W= (D) d% orfufamd

Which of the following items is not taken into consideration while
computing current ratio ?

(A) Creditors . (B) Debtors
(C)  Furniture (D) Bank overdraft
52, & grfyal § it 2 ~
(A) W= fam (B) ©oTER
(C) g (D) THawh
Liquid assets include
(A} Bills Receivable * (B) Debtor
(C) Cash DD All of these
53. UHHA H qH Rt 4,00,000 o ¥ TEHT 5,00,000 Fo B | 3
forat wierera &1 whtada gam 2 |
A) 20% | B) 25%
© 333% (D) 50%

Tangible assets of a company are increased from Rs. 4,00,000 to
Rs. 5,00,000. What is the percentage of change ?

(A)  20% (B) 25%
(C) 33%—% : (D) 50%
54. UM 3T 2 | -
(Ar  STTETERAT U (B) Trsferan swpum
(©)  uTEwar FIA (D) ¥ & #E Tt
Operating ratio is |
(A)  Profitability ratio (B)  Activity ratio
(C}  Solvency ratio (D)  None of these
[ 25A/12/132 - | Page 15 / 32
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S5, e Wil A e 3 gl o wftifera e e @ Rk s | o
S 6\ R

(A) 3R % e (B) 6 WR % e

() 198 % 3w (D) 29 & g

Current assets include only those assets which are expected to be
realised within

(A} '3 months (B) 6 months
AT) 1 year. (D) 2 years
56, TR IEAA AU § wiftel v st 2
(A) ¥ IUR A (B) % SR fwh
(C) F= T feshl (D) I HG A

Creditors turnover ratio includes

(A) Total credit purchase (B) Total credit sales

(C) Total cash sales (D) Total cash purchase
57. UHs Yam8 foaww dar feman o 2

(A) arifs g @ B) H-giiH e 4

© sl geei @ D) & mh

Cash Flow Statement is prepared from
(A) Balance Sheet (B) Profit & Loss A/c

(C)  Additional information B All of these
58. g Yaig faw <id ¥Hd “Wed w1 g %' fRE B % w9 § wfiga

H ?
(A)  TETER T B) Toreha foram
) Faw e (D) ¥ @ %i§ Tl

While preparing the Cash Flow Statement, the ‘cash purchase of
building’ will be classified as

(A)  Operating activity (B)  Financing activity
ey Investing activity (D)  None of these

25A/12/ i_W * Page 16 / 32
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g Rt 5 2 F-m g w1 v i
(A) ol F iy (B) ol § I
(C) Vs g (D) gdea =i d 3fe
Which of the following is not an application of cash ?
(A) Increase in Debtors
(B) Increase in Creditors
(C) Increase in Stock
(D) Increase in prepaid expenses
60. fam wadt franer 4 O yar +1 3T 8
A) T w1 fosw
B) = = s
() I % frlma 8 s wital
(D) WTH <
An example of cash flow from financing activities is
(A) Sale of goods
(B} Sale of investment
(C} Cash receipt from issue of shares
(D) Interest received
61. gt o Fmfo g
@A) GHg % fady arfufiam g (B) el rfm g
© PRI FamE@Rgm (D) (A) 3 (B) T
A company is incorporated by
(A) A Special Act of Parliament
(B) Companies Act
(C) Agreement of investors
(D) Both (A) and (B)
62. 39l & el WA 8
@) dsfma T B) Yo &
() Td M | (D) AT &
ES_A/ 12/132 Page 17 / 32
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Discount on issue of share is

(A)  Capital gain By~ Capital loss
(C}  Revenue gain (D) - Revenue loss
63. ot wrE ad aigi B Hfww W iy s wftfEE, 2013 #
U % 3tmia Sl e R ?
(a) 78 (B) 52
€53 D) wH A =

'A company issues its shares at a premium under which section of
Indian Companies Act, 2013 ? o
(A} 78 (B) 52

(C) S8 (D) None of these
64. UH HA A T w iy g 8
(a) i (B) 3rEifE
€ f&ar (D) uftEd=sfia
The liability of members in a cbmpa.ny is
(A) Limited (B) Unlimited
(C) Stable (D)  Fluctuating
65. HuYEd & s ww Uiy A fhw @ ¥ Fiee e s g 2
(A) 319 ot @ran (B) AT W AW @
(c) wiegfa fiftem @man (D) W = @

The amount received over and above the par value is credited to
which account ?

(A)  Share Capital A/c (B) Calls-in-advance A/c
(C) Securities Premium A/c (D) Share Forfeiture A /c

66. W T WK F A &I F3 F wella fomar wren @
A) W YSf @ &
(B) e QR WF WIEUM #E F 3fwria
(C) tfya =/ % F=ria
(D) =g Td AW W & =nta
[ 25A/12/132 _ | _ Page 18/ 32
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Balance of Share Forfeiture A/c is shown in the Balance Shee!
under the item
(A} Share Capital A/c
(B) Current Liabilities and Provision
(C) Unsecured loan
D) Reserve and Surplus
o7, T H 8 FEY wew ot 3o w1 % fer sk o § & e e = 2
(A) 341?,‘11? RIGC (B) st Win
(C) 379 & (D)  Ffaey
Which of the following should be deducted from the called-up
capital to find out paid-up capital ?

(A) Call-in-advance (B) Calls-in-arrear
(C)  Share forfeiture (D) Premium
68. T gHaT 3 fGd 9 &
(A)  HHEIET I B) Few=i =l
(C) (A) 3R (B) AT (D) ¥ A B TG
Sweat equity shares are issued to
(A) Employees (B) Directors
_r~ Both (A) and (B) (D) None of them

69. uH HE EU 10,000 3 YAF 10 To I WA 10% ey W I 5
my) sfuemy <A afyr geft
(A) 10,000 %o (B) 20,000 %o
(C) 8,000 %o (D) 5,000 %o
A company issued 10,000 shares of Rs. 10 each at a premium of
10%. The amount of premium will be https://www.bsebstudy.com
(A) Rs. 10,000 (B) Rs. 20,000
(C) Rs. 8,000 (D)  Rs. 5,000
70. st A Riffaa o & e feae! fean S @ 2
(A)  @wAl FAUTE (B) gatierR SaTRaAl
(C) RurgEuIiE @ (D) Wadw®l &l
To whom is dividend given at a fixed rate in a company ?
(A) Equity shareholders (B}  Preference shareholders

(C) Debenture holders (D) Promoters

_25A/12/132 Page 19 / 32
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?Lﬁﬁﬁﬁ#Wmm@mﬁﬁ%
(A) =@ (B
(C) v ®Y - () T T i
Which of the following is a capital receipt ?
(A) Subscription
(B) Donation
4er” Building fund
. (D Interest on fixed deposit
0. %t’mumrﬂmaﬁ%anﬁ;/wﬁmﬁa%mmm%
(A) - g () W T YA WA
(C) wN-T @ (D) 3w FE -
The surplus / deficit of not-for-profit organisation is ascertained by
A" Income & Expenditure A/c '
(B) Receipts and Payments A/fc
(C) Profit & Loss A/c
(D) Income Statement |
73. fafafea i @ SR-T1 & MM =T 8 ?
(A) EHE BT 7 (B) 9@R T YA
(C) W& &1 famin (D) w1
Which of the following is a revenue expenditure ?
(A) Purchase of furniture
ABY" Payment of salaries
(C) Construction of building

(D} Purchase of machinery
74. Ta¥ Ry 19 T B A @I 2

(a) Imfa | (B) <ifrw
() Usfma wife D) =3
Donations received for specific purpose are treated as
(A) Asset (B) Liability
(C) . Capital receipt (D)  Expense
75. THg o & -2 FERW @@
(A) TG @I (B) % W
(C) ¥iW T YaH Gl (D)  F% arfufyms
35A/12/132
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The summary of cash and bank transaction shows
(A} Cash A/c¢
(B) Bank A/c

/‘Qr// Receipts and Payments A /c
(D} Bank overdraft

6. gfya Ea ‘TH%E‘-T EARUGIE ‘%
Ay PShTa s (B) 3N =¥
€y 3= (D) 3 & afl
Payment of honorarium to Secretary is treated as
(A)  Capital expenditure ,(B’r'/ Revenue expenditure

(C)  Anincome (D)  All of these

77, frefefed 4 @ S9-31 o af & gafud o9-39 @1 gufar & 2
A} TN @ yraE @ (B) H™-= @rdl
) feufa faego (D) 3 A HIE T

Which of the following shows transactions related to one year ?
(A} Receipts and Payments A/c

(B) Income & Expenditure A/c

(C) Balance Sheet

(D) None of these

78. YW Yok BT 8
(A) Ysirra wifH (B) ITTH Wi
(C) T (D) =&
Entrance fee is treated as
(A) Capital Receipt (B) Revenue Receipt
(C) Donation (D) Subscription
79.  wrifive fagr daR & % fog w1 @ TR S @ 2
(A) A 3R I Gl (B) Wit & Yd™ QT
(C) g @l (D) g @@

What is used to prepare the opening Balance Sheet ?
(A) Income and Expenditure A/c

(B) Receipts & Payments A/c

(C} CashA/c

(D} Capital A/c

2

_254/12/132 |
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81.

| [220 |
THT A fewmn s R |
(A) Tagd B) ma-sd Ta |
(C)  (A) 3R (B) g (D). ¥ @ HIE T
Outstanding subscription is shown in
(A) Balance Sheet (B) Income & Expenditure A/c
(C}  Both (A) and (B) (D) None of these
Prefafas § @ Sl9-d gy ws 72 wEen F TN & q W AFEE:
gt &) A @ 2 )
(A) ke @) T wmfaat
©€) FreEm (D) @A

Which of the following assets is compulsorily revalued at the time
of admission of a new partner ?

(A) Stock (B) Fixed Assets
(C) Investment By~ Goodwill
82. W UMK & geg o w4t gl 8
Ay @ - (B) M
© w® - (D) ¥ | S T
Decrease in the value of fixed asset is called as
(A) Loss (B) Profit
_ey~" Depreciation (D) Nong of these
83. YAHATHA WAl Th 9] BT § |
(A) AM-BIH GHRISH @ % (B)  WV-E1Y @ %
(C) = @l % (D) ageh @men F
Revaluation Account is alike a
(A)  Profit and Loss Adjustment A/c
(B) Profit and Loss A/c
(C) TradingA/c
(D) Realisation A/c
84. wmmmmﬁmﬁmmﬁwmﬁmuﬁ[ﬁ
2fe =41
a) Usg@Em B) WimwErd.
(€ TUEERR S A EEH (D) T WR F el @y i
25A/12/132 | : Page 22 / 32
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when @ new partner does .not bring his share of goodwill in cash,

then the amount is debited to
(A) CashA/c
(B) PremiumA/c
New Partner’s Capital A/c
(D) Capital A/c of Old Partners

g5, TR o o WA I shide e s @
@) Pt s | (B)  3TTEW W A H
c FEIH o) @ few A
The Partner’s Capital Account is credited with
,UH/ Interest on Capital (B) Interest on Drawings
Drawings (D) Share in Loss
86. Hf%m oy 1 gETa fen |ngm
(A) FEE @A @B) wEed & Yoft @ W
c FHTH (D) g GATEA T
The accumulated profits are transferred to
(A) Realisation A/fc (B) Partners’ Capital A /c

(C) BankA/c By Profit & Loss Appropriation A /c

g7 grgert &1 gATieA gl 8
(A) HTEREH (B) IR

) uifefa aw (D) 3 & ®E T

Reconstitution of partnership is

(A) Necessary [B] - Unnecessary
None of these

,[,Q‘)/Snuatlonal
88. @ﬁa@mmﬂ@rﬁ%%@wﬂ%mnﬁxaﬁﬂﬂm@aﬁm%ﬂ
ST # widt S @ P
@) @ feR sgE d o (B) goft o1 o
(© w3 | (D) A FIE |

In which ratio, the cash brought in for goodwill by the new partner

is shared by the existing partners ?

(A)  Profit sharing ratio (B) Capital ratio
Sacrificing ratio (D) Old ratio
r--l-—.-_
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20, &R, T o war wrden § qu e e e S S <0 L2 m
mmwélmﬁwmﬁamlgﬁwmww
I g
A 2:1 B 1:2
) 3:5 (D) TH ‘

Hari, Roy and Prasad are partners and their profit sharing ratio iy
3:5: 1. Roy now wants to retire and his share is taken by Prasag,
New ratio of Hari and Prasad will be

A 2:1 @B 1:2

(C) 3:5 , (D) Equal

90. X, Y3tz 3:4:3% Wﬁﬁnﬁaﬂﬁﬂﬁ?ﬁa?l Y SEHE T
FaT & 3 X UF Z 9 @ T s 3 wted §1 X T 2 T 3w
g
(A) 1:2 B) 2:1
€ 3:1 D) 1:1
X Y and Z are partners sharing profit in the ratio of 3 : 4 : 3.
Y retires and X and Z share their profits in equal ratio. N ew ratio of
X and Z will be
A 1:2 B) 2:1
€ 3:1 D 1:1

91. HY F TN F TlurmEEET HE I 8
(a)  FFa G B) wfgpa g
(C) wurd weafeat (D) i $ht
Forfeiture of share results in the reduction of
1M~ Paid-up capital (B) Authorised capital
(C) Fixed assets (D) Reserved capital

92. HEA AT T FA | .

(a) die ¥ wew } (B) H® % Weaw @
© (a3 (B) (D) ¥ ¥ B
A company signs through
(A) Seal (B) Stamp
Mﬂ.th (A) and (B (D} None of these
25A/12/132 | _ Page 74 ] 32
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g eSuE R g B

. ;aﬁam @;‘ﬁ (B) eFrefl Sur

(© H 5

Debenture is the part of (D) ¥ @ ®i§ 78

o (S)hare ?apitatl (B) * Long-term borrowings
k. gﬁmw;;rg el (D)  None of these

A)  H % UTES B)  werd % R

(€ R Ak D) @

95.

254/12/132

chenturciholdcrs are the

(A) Customers of the company
;151/ Creditors of the company

(C) Owners of the company

(D) None of these

(A) arafe G (B) =afeTd Qe

(C) HHTE Gl (D) T @ F§ T
What is the nature of Debenture application account ?
(A) RealA/c _{By~ Personal A/c

(C) Nominal A/c (D) None of these
FUE T T = 8

(A) Foht ¥ ol w1 w R
B) fafen wve d gea™

€ wwl & el & farg T IR
(D) s | Wi T

. Interest péyable on debentures is

(A) An appropriation of profits of the company

(B) Transfer to sinking fund

—M charge against the profit of the company

(D) None of these
Page 25 / 32
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07, @ fory e 35 for, s 2 e s % 0 A P o

T %8 @+ e fpar s ?
(A) % @ ) & w0 G
(C) =" @ran (D) VA I Gl

In case of issue of debentures as a collateral security for the loan

taken from the bank, which account will be debited ?

(A)  BankA/c (B) Bank Loan A/c

(C) Debenture A/c (D) Debenture Suspense Ajc
98. T F ¥ e Ry woEt ) Reu Yiw % sfwia fara S g

(A) g = (B) ErdeRreiiA U

(C) =g i (D) uwa TE AR

In the Balance Sheet of a company, debentures are shown under
which head ? |

(A} Unsecured loan .-(-Brlﬁng-term borrowings
(C)  Current liabilities (D) Reserve & Surplus

99. AL % i W RAd - forgn i 8
(B) o g % & d (B) =T weafy % w9
(€) =R ® EH D) fau=m s =l

Discount on issue of debentures is recorded in the form of

(A) Intangible A_sset : (B) Current Asset

(C) Current Liabilities (D) Miscellaneous Expenditure
100. FHgEl & v W ity 2

(A) =feTd @ e —

(C) MWW Tl N T —
' Premium on redemption of debenture is a

(A) Personal A/c (B) RealA/c

(C) Nominal Ajc (D)  Suspense A /o
[25A/12/132 | e
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Wg - ¥ / SECTION - B
ﬂgﬁﬂﬂm / Short Answer Type Questions
gyT Wegr 1@ 30 A% oY I §1 3 | et 1509 & I &1 URE F

fore 2 sfF Freffia 21 15x2 =30
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.
15x2=230

Each gquestion carries 2 marks.
1 fad il % @ st o w
Mention two objectives of financial statements.
2. W THR  fawl F wiE A R Tqd@|
State two objectives of common size statement.
3.~ foeha faeon & fagelvo & 1 AR R 2
What is meant by analysis of financial statements ? |
4, Wmﬁﬁmﬁwﬁﬁ@iaﬁﬁmy@mmﬁ%mm% ?
Why are assets and liabilities revalued on the death of a partner ?
When and why is realisation account prepared ?
6. ardier wd 1 el @A e gmen e g ?
] Under what circumstances is a partnership
dissolved ?

T @ﬁ%q@mﬁaﬁ%ﬁﬁﬁwmwm%?

of years’ purchase at the time of

firm compulsorily

What is meant by number
_“yaluation of goodwill ?
5w 3 geies g ) wl
7 State the conditions for valuation of goodwill.
f%ffmmwmmwﬁmamﬁér
Write any two pbints of difference between sacrificing ratio and
- gaining ratio.
10,  sgfer freeiwor w1 2 ?
What is trend analysis ?
11, ®9H iR 3 T @ oy e P

What do you understand by common size statement ?
25A/12/132 - Page 27 [ 32
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14.
15.
16.

17.

18.

19,

/%:,'_
a)"
-
r

22.

[220]
FANT Trvdww % 2 R5At B 9|

State two objectives of ratio analysis.
AU T F9F H IS € 3l Hi
Differentiate between shares and debentures on any two points.

UG YA 6 CHd YR ggia =R ?

What is lumpsum payment method of redemption of debenture ?

RUMH & Y § T G B ?

What is meant by redemption of debentures ?

A -FITH TATd T A 1§97 g

Write the formula of caiculating gaining ratio.

X yeder §19 2 : 1% sm d wv-gif Ronfia #@ 31 =2l

%ﬁwﬁm%aﬁﬁ%%@%ﬁqmﬁmwmﬁmmm
|

X and Y are partners. They share profits and losses in the ratio of

2: 1 They admit Z into partnership by giving % th share in future
profits. Calculate the new profit sharing ratio.

Hfua o e wea 8 2

What is called accumulated profit ?

gsht fafly <t mom forw weem &Y ot R 2

How is Capital Fund calculated ?

AT W INR qAT A F AR A A R

Distinguish between charge against profit and appropriation of
profit. '
qTeer e 1 8 ?

What is partnership deed ? o

-

X, Y3z w1 # 3:2:2%F agum § o wled gu wmden
Y ST TEW Hdl 81 X IR Z R § 4 : 3% qum § emv-ahy wt
&1 fvig oa &) o wifl s w9 &=l

X, Y and Z are partners sharing profit in the ratio of 3 : 2 : 2.
Y retires. X and Z decide to share profit in future in the ratio of
4 : 3. Calculate gaining ratio.

age Sfted i oifadt = g 2
What is joint life policy ?

25A/12/132
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24, A WHER ¥ §oft @ A e fre 9 @ wE B "l

State the items which are debited to deceased partner’s capital
account,

25. &% YA g arurel % A qard)
Name any two solvency ratios.
26. UHg vamE fmw dmFR S RWE 2
. What are the objectives of preparing Cash Flow Statement ?
27.  Tafaam waft fradt @ dee afeate & @ g Q)
Give two examples of cash outflow from investing activities.
28, T QAT 39 H w7 I R 7
What is Sweat equity share ?
29, S SiE w5 T wh R
' Why does company forfeit shares ?
WG HUEE R ?
~ What is Redeemable Debenture ?
et I W Long Answer Type Questions
TR 3l T mm I s A fRFfi 4 d s i vl &

fere 5 o fraifia &1 4x5=20
Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.
Each question carries 5 marks. 4x5=20

..31.--,mﬁwmw%?,wﬁ-mwﬁmm%%?

What is Receipts and Payments Account ? How is it different from
Income and Expenditure Account ? https://www.bsebstudy.com

3o~ awed v w2 weeh g fedwand werd

What is partnership firm ? State its main characteristics.
33, qorTesh A faeton § 1 3 R P 9% fhw R dam fn w2

What is meant by comparative income statement ? How is it

.’/

prepared ?
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3 SaTE TR T R 2 g I H1 AU B
What is Cash Flow Statement ? Describe its uses.

35.  WRW, Mfgm aon Aftaer A &l A e G 1,00,000 Fo A1 oS F gy
T IY& TN 2019-20, 40,000 %o ; 2020-21, 46,000 Fo TUT 2021.9y
52,000 %o a1l 2020-21 & 3,000 o F a@wT T gE B F =y 5
oA o ol & st @ % Q a9 % HT W HE A1) % H
@t <t T w5
The total capital of the firm of Sourabh, Mohit and Nikhil was
Rs. 1,00,000. The net profits for the last three years were : 2019-9g

RIS At
Rs. 40,000 ; 2020-21 Rs. 46,000 and 2021-22 Rs. 52,000. There
was an abnormal loss of Rs. 3,000 in 2020-21. Goodwill of the firm
was to be valued at 2 years’ purchase of the average profit of last
three years. Calculate the goodwill of the firm.

36. AN BF wh o ¥ Rme ® Profofan ol % fre 7 9
siafdar & srdf >
i)  feue =/ 500 %0 )

i)  M-TafRea dufidi § 2,500 %o &1 gt 7
i) 2,000 %o T TElea, i wget € =gl @ § w=iatE s fon
T, UH WIHER A % g o fomn ) | |
iv) R A, S Ed @ 9t @ 3§ weiala @ g 8, 3,000 Fo
HTI T
v) ‘@ﬁm4ooomﬁ;mﬁﬁ.aﬂtsﬁ3 1 % argua & &
Siciid
What journal entries would you pass for the following transactions
on the dissolution of a firm of A and B ?
1) Dissolution expenses amounted to Rs. 500.
. i1 Unrecorded assets realised Rs. 2,500.
iiij  Stock worth Rs. 2,000 already transferred to realisation
account was taken over by a partner A.
25A/12/132 - " Page 30 / 32
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37.

38.

[ 220 ]
iv)  Creditors, already transferred to realisation account Were
paid Rs. 3,000.
V) Profit on realisation Rs. 4,000 is to be distributed between
A and Bin the ratio of 3 : 1. i
Wi Rt 3 10 w0 Wi a7 F 6,000 W H A 2 Fo Wia 3w AW
ot Puffira fvu e &, 3 5o Wy 3iw AY-sifm ar TR F YA T FE W
T T for) BT fve e aiE & @ 300 9 @ 8 %o wy ofw ol yeH
i o R | g % W un R 6 TEEs A
wfafat €1 e & stw g @ ot dEr AR -
Cemto Ltd. forfeited 6,000 shares of Rs. 10 each issued at a
premium of Rs. 2 per share for the non-payment of final call of

Rs. 3 per share. 300 of the forfeited shares were re-issued for Rs. 8

per share as fully paid up. Pass necessary journal entries for the
forfeiture and re-issue of shares. Also prepare share forfeited

account.

A f%aﬁti'g = II;EI'-IT e A %
%o

i) - oifom when . 1,00,000
i)  @RR | 86,000
iii) U9 | 20,000
iv) W fee 18,000
vy Teshr 6,00,000
vij wrftwmteEl o 1,20,000
viip ¥ - 42,000
viii)  Srftfred . 34,000
p—c oo ks s

(a) €L, FIE, (b) ¥ T, (c) V% FEET U, (d) T wE

TadA 39|
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A Ltd. provides the following information :

i) Closing Stock
ii) Creditors

iiij  Cash

iv) Bills Receivable
v) Sales

vi) Fixed Assets
viij Bank
viii) Overdraft

You are required to calculate the follo
(a) Current Ratio, (b) Quick Ratio,

(d) Fixed Asset Turnover Ratio.

[220!

Rs.
1,00,000
86,000
20,000
18,000
6,00,000
1,20,000
42,000
34,000

wing ratios :
(c) Stock Turnover Ratio,
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